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ECO 1001 - ECONOMICS

Micro Economic Analysis - 1

(2013 Pattern) (Credit System)
Time : 3 Hours] [Max. Marks :50

Instructions to the candidates:
1) Attempt all questions.

2) Figures to the right indicate full marks.
3) Answer each question in 250 words.
4) Answer should be precise and to the point.

Q1) a) State the basic Economic problems. [10]
OR

b) How is Revealed preference theory superior to ordinal utility theory.

02) a) Whatis mean by Indifference curve? Explain the properties of Indifference
curve. [10]

OR

b) Critically explain the Revealed preference Theory of demand.

03) a) What is mean by elasticity of demand? Explain the various types of
elasticity. [10]

OR

b) Define short run and long run. Explain how the long run average cost
curve is the envelope of short run average cost curves.
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04) a)

b)

05) a)

b)

What is Iso - quants?Explain the producer's equilibrium with the help of
Iso - quants. [10]

OR

Discuss the cobb - Douglas production function and derive the explanation
path with the help of appropriate diagram.

Explain the concept of social welfare, State its various criterion?  [10]
OR
Explain fully the three stages of production in the short run.

R R

[4704] -1001 2



Total No. of Questions: 5]

P2486
[4704] - 1001
ML.A (Part - I) (Semester - I)
ECO 1001 - ECONOMICS
Micro Economic Analysis - 1
(2013 Pattern) (Credit System)
(7Bt TuTER)
gz 3 ard] [ zgor 707 : 50
AT o~ 1) qF T97 ATT9TH 3TE.
2) ITAIHSIT 3k QU T GV,
3) ¥ede FEETEl 250 J5qTd I forgT.
4) GeYrarst g sA TeAalAHT ugTat.
gy7 1) ) HAYA AR T RO o | [10]
fea
¥) erfireaaa uwEdt Raegra g1 shuestt sumfirar fasgramaen war 9s 1.
g7 2) ) WHIA! Aok TEUNS h1d ? THIcA! TghTEl TUIEH TIF H. [10]
Tema
¥) URTUTAT Yeheld uwdt fegrara fehtenss TusdteRtor .
gy7 3) A) URTUIEN Aafeehal TEUN & ? wdieewde fafaa ger we %, [10]
fea
q) USRS A SrHehTATH! STEAT €T, eUehlela BTG aehiell TRaNIeh

ek TEUTS S ehTela SEd T 93k g § ¥ o,



g7 4) )

97 5) )

)

[4704] -1001

FHIUTET eh TEUTS h1 ? THIAATET TehT<aT UTERAT ScaTaehrel THATA
Y . [10]

fera

HE — S IUTEA i Hehou-olt Tl &, AT T SThA AT HTUR
foeaR et e

ATATRTE HeATT HeheUdT TIY e, et fafaer wdre . [10]

femar
ACTRTATATA ICUTSATSAT I TAEAT FIAER TUT TASTERIUT ol

W R



Total No. of Questions : 5] SEAT No. :

P2487 [Total No. of Pages : 2
[4704] - 1002

ML.A. (Part - I) (Semester - I)
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Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Answer should be precise and to the point.
4) Answer in 250 words each.

Q1) Explain the role of government in organised society. [10]
OR
Explain the voluntary Exchange models.

02) Discuss the ability to pay approach. [10]
OR
Explain the Wagher's law of increasing state activities.

03) Explain the problems of double taxation. [10]
OR

Discuss the structure and growth of public expenditure.
04) Explain the concepts of private goods, public goods and merit goods. [10]
OR
Review the reforms in expenditure budgeting.
05) Explain the optimal taxation theory. [10]

OR
Explain in detail the criterias for public Investment.
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Instructions to the candidates:

1) Attempt all questions.

2) Figures to the right indicate full marks.

3) Answer should be precise and to the point.

4) Answer each question in 250 words.

Q1) Distinguish between absolute and comparative advantage. State how two
trading nations could gain from trade. [10]

OR
Terms of trade are always adverse to under developed countries. Explain.

02) Explain Krugman - theory of economic Geography. [10]
OR
Explain the arguments for and against free trade policy.

03) Explain Stolper - Samuelson theorem. [10]
OR
Explain the factors determining terms of trade.

04) Explain in detail Leontief paradox. [10]
OR

Discuss the Dunkel proposal.

05) Explain the effects of Tariffs. [10]
OR
Explain the causes behind the increased contribution of services in global
trade.
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Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.
3) Answer should be precise and to the point.
4) Answer in 250 words.

Q1) Discuss the indicators of Economic Development. [10]
OR

Explain the nature of poverty in Indian Economy.

Q2) Elaborate the problems of Agricultural Finance in India. [10]
OR

Explain the concept of Globalisation of the economy.

03) Explain the role of public sector in Indian Economy. [10]
OR

Explain the challenges before Energy sector in India.

04) Explain the Indian Financial System. [10]
OR

Discuss the Growth and pattern of Industrialisation after 1991.
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05) Elaborate the problems of India's Industrial Export. [10]
OR
Discuss the issues in Labour Market Reforms in India.
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Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.
3) Answer should be precise and to the point.
4) Answer in 250 words each.

Q1) Explain the concept, significance and pecularities of labour. [10]
OR
Critically examine the Marginal productivity Theory of wages.

02) What are the causes of Low Labour turnover in India? [10]

OR
Explain the concept of minimum wage and fair wage.

03) What are the causes of industrial disputes. [10]
OR
Discuss the causes of absenteeism in labour in India.

04) Explain the characteristics of Indian Labour market. [10]
OR
Explain the structure of labour union in India.

05) Explain the causes of flexibility in labour market in India. [10]

OR
Explain the child Labour policy in India.
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Instructions to the candidates:
1) Attempt all questions.

2) Figures to the right indicate full marks.

3) Answers should be precise and to the point.
4) Draw neat diagrams wherever necessary.
5)  Use of nonscientific calculator is allowed.

Q1) Answer the following question (Any one) [10]
i)  Draw the graph of linear inequalities.
i) Sx+4y <200
i) 3x+35y <150
i) Sx+4y > 100

x>0y>0
Also indicate the common region.
OR
i)  Sol P2 X220 ) 30410x 43 =0
i1) olve a) X—2 %42 6 ) 3x X .
02) Answer the following question. (Any one) [10]
i)  Solve the following Simultaneous equations.
x*+ xy + 4y*=6
3x2+ 8y*=14
OR

i) The demands x, x,
p, (a,+ b x,)=p,(a,+ b,x,). Given the consumers income M = p X +p X,
find the demand function for each good.

for two goods at prices p,, p, have the relation



03) Answer the following question. (Any one) [10]
i)  The total profit y in Rs. of a company from the manufacture and sale of

_X2

x bottles is given by the equation y = 400

+2x—80. Find i) how many

bottles must the company sell to achieve maximum profits? ii) What is
the profit per bottle when the maximum profit is achieved?

OR
2 -1 4
i) Let A=4 0 2 Find A" using elementary row transformations.
3 -2 7
04) Answer the following question. (Any one) [10]

i)  Find Marginal Cost if total cost functions are given as below
a) TC=1000 + 2x — 5x?
b) TC =500 - 3x + 2x?
c) TC=11+x

5
d) TC=— +10+0.5x

OR
i)  Show that for the cost function = (ax + b)’2, the elasticity of cost n_
rises but remains less than unity as X rises.

05) Answer the following question. (Any one) [10]
2 1 -1 1 0 1
D ATy 3BT o 13'CT|q 1 IFCX —AB = 0. Where 0 is null
matrix, Find the matrix X.
OR
i) A certain machine sells for Rs. P hundred and the demand of X hundred

90

machines per year is given by X= 0+5 —3. Determine at which level of

output the total revenue is maximum.
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